Directorate of Government Examinations, Chennai - 6 ;
. 18] 2x, 5x-7, 7xare in A.P
SSLC Public Examination - March 2018 the required numbers are 28,70,98 1 2 Marks
Mathematics - Answer key 19 | dividend =[ guotlent x divisor | + Remainder (OR) (X+2)X-1#4 [ 1 | 5 parks
Total Marks :100 dividend = X +x+2 1
Section - | ) | [20]1x30, 2x 15,310 5X6 T | 2 Marks
section-1 30x1,15x2,10x3,6x5 1
(Marks : 15) 21| 45 = (15 4 1
[ Choose the correct Answer : ' 15x1=15 192 g 2 Marks
= 1
i 1 {(d) f not possible BA (17 6)
2 | (b) e 22 | Section Formula (internally) 1
b Ixz+mx;y lyz+my 41-3m  —9l+5m
b zl+m oL 2;+m i) ©OR) l+m ' Hm ) (=23) 2 Marks
3 [ va8 1:m=1:6 1
4 [(d)|1 23 Equat;on of straight _line (slope-point) y-y; = m(x-X1) (OR) 1
- y+4= ;(x-S) 2 Marks
5 |(a) | (x - a)? (xP+ax+a?) 2x-3y-22=0 1
6 {(a)l 1-a®-Py=0 24
()| 1-a*-Br i "
7 ((@i-3 %
81|00 Y 2 Marks
9 j(c)|4.5¢cm
10 [ {c) |BOm ‘ diagram - 1 mark
11 2 2 s mention the values - 1 mark
(a)[sec” 0-tan” 6 25 [ By Pythagoras theorem _ ABZ + BC? = AC
‘ 12 /' (d) | greater than one Divide by AC?
{ 13 ,(a) 40cm?® sin? B+ cos? 6= 1,
h A 2 Marks
[ |ev2
/ 15 [ (b) I 10 i B [of
26 | (sec §— tan d)(sec 8+ tanb) 1
Section - Il (Marks :20) = sec? f—tan? =1 1 2 Mafks
[ 1. Answer 10 Questions . 57 Z — .
ll. Select any 9 questions from the first 14 questions. Question | 10 X2 =20 GiShvok foe cons _ Araaofihe secion=zc BaR \ 11 \ 2 Markﬂ
No: 30 is compulsory. =462 sq.cm
16 Az B (OR) A is not a subset of B 1
because agB.beB,ceB 1 | 2Marks
17 jrange of f ={—1,1} 1
not a function 4 | 2Marks
2 3
38366 - 1a




; — P v -
BT ) |1 33 [(a-d)yra+(a+d) = 18
14 196 a=6 5 Marks
16 256 (a-dy’ + a® +(a+d)’ =140
20 400 d =14
21 a1 2 Marks 261001082 -
25 625 24827, 2¢i=1m1
30 900 * Ly
Ix=126 | ©x*=2818 1 3a+6b=7;9a+3b=11
: 29 [n(s)= 100, T as1:b=2 5 Marks
4 4 1 3
E- T ;g2
E 2 Marks x=1y=3 5 3
. P(A) = 26 _ 2t 1 solution of the system (1,3) ,(0.0) (or) 3 IR Ak N
100 25 e iredlimmeerepimsgaaseserenne
- 30| 2 _ Vit1\ 2 _ 341\ 2
: [ @|* (V3+1)x+ (T) - (T) -3 1 2 Marks Ax3-3x+2 e »
i x=V3orx=1 1 4 | 16x-24x°+25x-12x+4
i (or) 16x*
k (b) | TSA of the hollow hemisphere =z (3R? + 2) 1 8x2-3x 24xX°+25x% "
i =57.331 cm? (or) 180.18 cm? 1 | 2 Marks 243402 5 Marks
i 16x3-12x+4
. 8x-6x+2
. Section - Il _(Marks : 45) X 16x-12x4
] I.  Answer any 9 Questions . \ o
' ll.  Question No: 45 is compulsory. Select any 8 questions from 9x5=45 T .
i the first 14 questions. Vit —24x + 25 —12x+ 4= Mx*-3x+2y VA
, 7 = .
31 190 36 |y2 —x2 =45,%x<y
x? =4y 5 Marks
yz —_ 4—y —-45=0
y= 9,y= -5
“ required numbers x=6;y=9 o asa b e
5 Marks - -
7 (8 -3
. 20 : AB = (11 —4)
a) no.of.students did not like any of the 3 types = 20 1 ABYT = ( 8 11
b) no.of.students liked any 2 types only = 25 1 ' ¢ “\-3 -4 5 Marks
c) no.of.students liked folk music but not rock music =36 1 - (2 ._1)
32 (a) 1(-7) = 36 f(-3) = 2 11
f(-7) - f(-3) = 34 2 ‘ AT = (5 7
(b) f(4) = 3; f(-6) =25; (1) =6 2 3
5 (8 1
HEIZ® 14, 3 Marks A=, L, - o T S
[(-6)-37(1) 7
‘ 5
4 ‘
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18 e
l-t -6 -1 2 *‘N]umts 2
3l
FBHS48+ )~ (20-2-1-¢) | 1
5 Marks
(86) 1
43 squunits 4
1
xwx;*xs =17 s YI*)':*YS =20 1
Alx y1)=(1,2) 1
B{x: ¥2) =(5.6) 1 | 5 Marks
Clxs ya) =(11,12) 1

ERIER S !
2 me(h +r) = 1628 om? 1
r=7cm 5 Marks
h=30cm 1
V=nrih 1
v = 4620 cm® (OR) 1470 ncm® :
43 ‘ - u_.- 3-. -],
' 1
¥ -mwm);a. o | 5 Marks
> x =307
Sia-n-2F =82 1
P(x—T) =62 1
44 | s={(1.1) (1.2) (1.3)ccceeccreennens (6,6)} ,
n(s) = 36 1
12 -9
PA) =5 1P(B) = 2
PANB) = 5 Marks
P(AUB) = P (A) + P(B)- P(A N B)
P(AUB) =} =2 1
P(A B ) = 1
45 {ty=ar™
(@) 375 e = 192 (or) a = 375, ar’ 192 1
= ; 1
-
se=a(55) 1| 5Marks
_31s-QM] 1
| Sya =1875 [1-(§)‘4] 1
(or)
l Cyhndriml tank
(b) \ 1
1Dm
| Q'hndnml pipe
rp=—m h;=Tx2500m 1
volume of the water discharged through the cylindrical pipe 1 { 5Marks
= % {volume of water tank}
amihy = 3 (mm?hy)
s 5 _1
k XS X axTxZSOO— z):1:1:22(21110 1
| T=32hrs (or)3 hrs 12 min 1 }




SECTION -V
Marks : 20

"Note - Answer both the questions choosing ©

(a) | Rough diagram
" . First circle
. Line segment
| Perpendicular bisector
{ | Second Circle
| | Two tangents
%
- (b) Rough diagram
Line segment PQ
Triangle PQR
' Perpendicular bisector
- Circum circle
' Cyclic Quadrilateral PQRS
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| Length of Tangents =84 ¢cm (o 8.5¢em

frer of the altornaives.
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Any five points
i | x- axis, y -axis ,scale
' Plotting the Points and drawing the parabola
y=x-2 :
1 1ix 2 0 1 12
Ty=x2 4 -2 -1 [0 |
Plotting the Points and drawing the straight line
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 Solution set. Norealroots R
B (O_f) B SNy
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v} H x f ;
| . No. of | 1 ‘
C 1 litres (1) | :
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| Cost (Rs.) »Z

Piotting the Points and drawing the straight line
I I (i)k=15 {or) proportionality constant =15
| (ii) cost of 3 liters milk = Rs 45

e U,

L o LN

R—

TRERRE AR

W

i

. ‘.1'



